KET

Math 3 Name
Similarity and Congruence Review

1. State whether or not the following triangles are similar and support your answer.
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2. In the figure given to the left, AXYZ s simllar to g X
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a. Find the value of XZ. -

1, 24 .
™o X XZ =232 D 3 3¢ ZY=36

Ix=2s87
b. Find the value of CD

T B
12 ° 3¢ co:27
lax =324

3. Looking at the triangles in the figure on the right: P
a) Are the two triangles similar? Ya.:.) AA
b) What is the length of QT? R,S'
c) If PTis15 cm, what is the length of RT? g e
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4. Inthe diagram to the left,
AACB ~ AECD, Find the length of
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5. Tonyais 1.3 meters tall. She stands 7 meters in front of a tree and casts a shadow 1.8
meters long. How tall is the tree?
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6. Stephanie casts a shadow of 1.2 m and she is 1.8 m tall. A wind furbine casts a shadow
of 10 m at the same time that Stephanie measured her shadow. Draw a diagram of this
situation and then calculate how tall the wind turbine is.
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7. Maya needed to determine the longest distance across Grand Lake. She made the measurements as
shown in the diagram.
a. Provide an argument to justify that ANPM ~ /A RPS, Grand Lake
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b. Determine MN, the longest distance across Grand Lake.
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8. Inthe diagrams below, pentagon ABCDE ~ pentagon TZYXW.

a. Use the information
provided to determine each
measure.
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b. What is the scale factor from pentagram TZYXW to pentagram ABCDE? Explain your reasoning.
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Given: £S=2UTV

Prove: ASUW~ATUV
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Given: TP L A8, AP = SP
Prove: AATP = ASTP |
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12. Solve for xandy.
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¢ ‘
- 5_"‘9_%"’ l fcaéa-h
- . DAL ZDE (1) Gven
/N \ ABEDF
A;!)_*{Ph-, \B 4 (\D ém(s;(,ED F
2) DCAB = 2) 545
AEDF
i Y CPCTC
3) ce T EF )







